CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 9, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Drennan, Emily	1.00 hours	\$32.26
Grieme, Nathan	1.25 hours	40.33
Johnson, Kassandra	1.25 hours	40.33
Joyner, Abbie	1.25 hours	40.33
Kent, Jena	1.25 hours	40.33
Kent, Kyle	1.25 hours	40.33

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES APRIL 27, 2022, \$32.26 PER HOUR, 2 HOURS FOR A TOTAL OF \$64.52 EACH: (10-2210-0000-1341-531-2)

Baldin, Jennifer

Brillhart, Sarah

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES APRIL 20, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-531-2)

Nolen, Emily	1.00 hours	\$32.26
Punke, Lindsay	0.75 hours	24.20

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES APRIL 20, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-0000-1341-000-2)

Baldin, Jennifer

Brillhart, Sarah

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING ACTIVITIES APRIL 21, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-531-2)

Moore, Lori

Peterman, Sarah

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES SOCIAL WORK OVERLOAD ACTIVITIES MARCH 7 THROUGH APRIL 23, 2022, \$70.71 PER HOUR, 33.5 HOURS FOR A TOTAL OF \$2,368.79: (10-2210-6220-1342-000-0)

Teeter, Sara

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES APRIL 19 THROUGH APRIL 28, 2022, \$32.26 PER HOUR, 34 HOURS FOR A TOTAL OF \$1,096.84: (10-3700-0000-1243-531-2)

Lamsargis, Kathy

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING MAY 3, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-6431-1341-481-2)

> Justison, Mildred Servough, Carrie

Watt-Brennan, Janine

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START COACHING WITH INSTRUCTIONAL LEADERS MAY 4, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-6431-1341-481-2)

Becker, Brooke	Loken, Susan
Ferry, Audra	Servough, Carrie
Justison, Mildred	

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START COACHING WITH INSTRUCTIONAL LEADERS APRIL 27, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-6431-1341-481-2)

Becker, Brooke	Loken, Susan
Kieffer, Shelley	Tolsdorf, Kathleen

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION EQUAL OPPORTUNITY SCHOOLS AP TEACHER TRAINING APRIL 12, 2022, \$32.26 PER HOUR, 2 HOURS FOR A TOTAL OF \$64.52 EACH: (10-2210-0000-1341-564-2)

> Covey, James Eaton, Deborah Hodapp, Brad Hunsley-Hunt, Stephanie Latif, Ruby

Lopian, Jerry Negele, Lydia Walls, Peter Wieneke, Monica XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION GRADE 3 SOCIAL STUDIES UNIT WORK APRIL 19, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-0000-1341-564-2)

Benoit, Claire	Kent, Jena	
Covey, Heather	Wollet, Jill	

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING APRIL 20, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-6431-1341-481-2)

Becker, Brooke	Loken, Susan
Ferry, Audra	Servough, Carrie
Kieffer, Shelley	Tolsdorf, Kathleen

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ENGLISH CURRICULUM TEAM PROFESSIONAL DEVELOPMENT APRIL 26 THROUGH MAY 3, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Beran Taft, Melissa	2.00 hours	\$64.52
Dempsey, Tracy	4.00 hours	129.04
Eaton, Deborah	6.00 hours	193.56
Emery, Erin	2.00 hours	64.52
Goodrich, Karmen	6.00 hours	193.56
Latif, Ruby	2.00 hours	64.52
Peak-Nordstrom, Erica	2.00 hours	64.52
Poe, Sarah	2.00 hours	64.52
Rennison, Laura	4.00 hours	129.04
Thompson, Brandon	4.00 hours	129.04
Traw, Molly	2.00 hours	64.52
Weitekamp, Crysta	1.25 hours	40.33

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL ELA CURRICULUM TEAM PROFESSIONAL DEVELOPMENT APRIL 20, 2022, \$32.26 PER HOUR, .75 HOURS FOR A TOTAL OF \$24.20 EACH: (10-2210-0000-1341-564-2)

Beran Taft, Melissa	Thompson, Brandon
Poe, Sarah	

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SPRINGFIELD RESILIENCE INITIATIVE TRAINING APRIL 20, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Bramblett, Rebecca	2.00 hours	\$64.52
Capps, Gail	1.25 hours	40.33
Carman, Jake	2.00 hours	64.52
Cherrone, Emelie	2.00 hours	64.52
Dickman, Barbara	2.00 hours	64.52
Erickson, Carlie	1.25 hours	40.33
Goetz, Joshua	2.00 hours	64.52
Guikema, James	2.00 hours	64.52
Gwinn, Don	2.00 hours	64.52
Hamann, Jaclyn	2.00 hours	64.52
Isham, David	1.00 hours	32.26
Kim, Whitney	2.00 hours	64.52
Martin, Ramona	2.00 hours	64.52
Maxwell, Mickey	2.00 hours	64.52
Neely, Gail	1.25 hours	40.33
Ostermeier, Adrianne	1.25 hours	40.33
Pine, Cory	2.00 hours	64.52
Rennison, Laura	2.00 hours	64.52
Shaon, Spring	2.00 hours	64.52
Sholtis, Kelly	1.25 hours	40.33
Teeter, Sara	1.25 hours	40.33
Traw, Molly	2.00 hours	64.52

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL MATH DEPARTMENT CHAIR MEETING MAY 3, 2022, \$32.26 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$48.39 EACH: (10-2210-0000-1341-564-2)

Borah, Jill	Nicholas, Kelly	
Goss-Rodgers, Gina	Womble, Ashley	

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START INCLUSION PROJECT MEETING MAY 3, 2022, FOR RATE SPECIFIED : (10-2210-6431-1360-481-2)

Ellenz, Michelle	1.50 hours	\$16.42 per hour	\$24.63
Rockford, Jean	1.50 hours	\$27.00 per hour	\$40.50

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE AND HIGH SCHOOL BUILDING TECH LEADER ACTIVITIES THIRD QUARTER JANUARY 10 THROUGH APRIL 1, 2022, FOR RATE SPECIFIED : (10-2210-0000-1341-564-2)

Cuzzort, Samantha	1.00 Stipend	\$250.00
Dickman, Barbara	1.00 Stipend	87.50
Havener, Michael	1.00 Stipend	50.00
Jachino, Rachel	1.00 Stipend	250.00
Schaefer, Bridget	1.00 Stipend	106.25

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LITERACY EXTRA DUTIES APRIL 21, 2022, \$32.26 PER HOUR, 1 HOUR FOR A TOTAL OF \$32.26 EACH: (10-2210-0000-1341-564-2)

Dukett, Jennifer

Jurgens, Mary

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CO-TEACH BOOK STUDY FEBRUARY 8 THROUGH MARCH 15, 2022, \$125.00 PER STIPEND, 1 STIPEND FOR A TOTAL OF \$125.00 EACH: (10-2210-0000-1341-564-2)

Davis, Lacy	Jordan, Laura
Fretz, Morgan	Jurgens, Mary
Havenar, Meri	Stewart, Shelley
Jones, Talamia	Thomas, Sarah

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION DIVERSIFYING YOUR CLASSROOM LIBRARY COURSE #2 APRIL 28, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Flesner, Ida	1.00 hours	\$32.26
Grieser, Jennifer	1.50 hours	48.39
Israel, April	1.50 hours	48.39
Taylor, Joelyn	1.50 hours	48.39
Thompson, Jessica	1.50 hours	48.39

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATHENY IAR TRAINING MARCH 31, 2022, \$32.26 PER HOUR, .5 HOURS FOR A TOTAL OF \$16.13: (10-2210-0000-1341-564-2)

Taylor, Kyra

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HARVARD PARK CO-TEACHING PLANNING ACTIVITIES APRIL 11 THROUGH APRIL 19, 2022, \$32.26 PER HOUR: (10-2210-0000-1341-564-2)

Blakley, Kaylee	2.00 hours	\$64.52
Dold, Jena	4.00 hours	129.04
Stoll, Nicole	2.00 hours	64.52

XXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR SPRINGFIELD HIGH SCHOOL MCCLERNAND EDUCATIONAL INTERPRETING TRIAL ACTIVITIES APRIL 25 THROUGH APRIL 29, 2022, \$28.64 PER HOUR, 7.5 HOURS FOR A TOTAL OF \$214.80: (10-1200-6220-1164-000-0)

Sluga, Carrie

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION SPRINGFIELD RESILIENCE INITIATIVE TRAINING APRIL 20, 2022, FOR RATE SPECIFIED : (10-2210-0000-1341-564-2)

Boggs, Stacia	2.75 hours	\$21.45 per hour	\$58.99
Browning, Doris	2.75 hours	\$20.43 per hour	\$56.18
Cacciatori, Claire	2.75 hours	\$14.93 per hour	\$41.06
Cavataio, Marie	2.75 hours	\$19.63 per hour	\$53.98
Crown, Dianne	2.75 hours	\$17.31 per hour	\$47.60
Davis, James	2.75 hours	\$14.75 per hour	\$40.56
Duodu, Franklin	1.00 hours	\$20.02 per hour	\$20.02
Fennessee, Anthony	1.00 hours	\$28.09 per hour	\$28.09
Gerard, Niko	2.00 hours	\$16.67 per hour	\$33.34
Gorens, Terrell	2.75 hours	\$19.63 per hour	\$53.98
Johnson, Kathy	2.75 hours	\$30.24 per hour	\$83.16
Payton, Jimmy	2.75 hours	\$29.49 per hour	\$81.10
Persley, Yvonne	2.75 hours	\$16.53 per hour	\$45.46
Stewart, Juquita	2.75 hours	\$14.75 per hour	\$40.56
Stoutenborough, Andrew	1.00 hours	\$16.67 per hour	\$16.67
White, Maurice	2.00 hours	\$20.02 per hour	\$40.04

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION MATHENY IAR TRAINING MARCH 31, 2022, FOR RATE SPECIFIED : (10-2210-0000-1341-564-2)

Hampton, Ann	0.50 hours	\$19.29 per hour	\$9.65
Lawhorn, Sarah	0.50 hours	\$17.23 per hour	\$8.62

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR IMSA AFTER SCHOOL PROGRAM ACTIVITIES MAY 10, 2022, \$32.26 PER HOUR, 1.75 HOURS FOR A TOTAL OF \$56.46 EACH: (10-2210-0901-1341-000-0)

Horstman, Laura

Moore, Lindsey